X " XFYUVZASUS 430 - NTHBLELT
317.5 (k& -HEKNME) 1082.5 b RHEKLE (BERHIN
- #l ®[H5-MDF735yvva t17 T
JERP 38 % RHS-MDF75vva ti1.5  SilIE
Lo —— e , 7 N # R|TIVIBRAE7S5vvatll)
— ¢| Lo Pand | 3
o= e i A O|F—7R_y%¥Y BE-1433
< m;E = B E[XSM1FEE
s I e o & ®|MFCE-Ft8 UI63 &@
= - kBRER [KM5011TR20 (#7vaY)
_|eo = KRRAATHE L5
| oo »116 = EESEER t 1 2 (W) 404h 2/1028G
K o — I-MEAN-FIUE =t 12 (G) N A5 )=y
vVIRELLBO BRAM . [I-MEA-F0E -} 1 12 (N) #2909}
Sp— WGN| xp2@E aettd
o— J . ,
= Ak = ("379)SC40-1510-3013 B8
- HAVBRF MK—-100 SO0ET (x7v&y11Y)
510 535 215 I-MEN - -} £ 12 (D) 4 =791
| ' el 600 attig.p| YREE BEMHLY
(A R) 800 /e8] Vw370 SC40-1510-3012 &&
1400 HYRE MK=100 Y8MT (BRBYHY)
550
5 365 70 (R#) 550
[90[ [ 5 (1vo&) 545
U == ] | /
Sl | f == LT === =
37 51 - :_ : § e \\/; N :\x%yvxxu:cf > \27vvzuty
X | T - S P —e
oo o k= I - _I .5 [ 4= i I
LﬁcD 1 # O ol o 1—)/ ( —
oo|" o o o © J/ o o
%) ~ co co| co \I\ =] —
| w | © n| © Te)
- Ty NS | ﬁ | - Z = 1205
§ - 112 — I Loﬁﬁ(ﬁ) %
=] RN B I S =
) . — o
T ._\.. |ﬁ ______ I L © %| I %
(BEk)2 35
8 491
{EE; SRR \24 395 2 395 b 295 |2 295 4 [1127 (6%) 496
- (Eyt At 1397 ) 19] (fIR) 526
B R |@mzEm B @[ . -3
£ . : (CERFEIES 1 SV-X:: 1
= 1/10 WE|2016.12 avosfNRLE:13774v)-% A#-TH 048 (423) 1111 %
X 2 CF—140AL 7ry72 048 (423)1112




X " XFYUVZASUS 430 - NTHBLELT
1082.5 (kB HEKAIE) PR AKESE MERHIIN
~ Bl W HWS5-MDF75vva t17 i@
KERP I8 % RHS-MDF75vva ti1.5  SilIE
7 N — __\_\; _____________ =~ | o OR[TVIBRAB7 5y vatll)
S e <) S A O|5—7<y%¥Y BE-1433
: = i i OE (XS NIERE
o L |w| [ _®[MFCR-rt8 UJE3 &E
= 5 kB2BE KM5011TR20 (A7vsV]
w© o| ABRRNATFHE LS
= $ 116 K RS VIRER T 1 2 (W) w04 2/10256
= . I-MEN -FI0E -}t 12 (G) N X700 Y-y
vv7RE160 RAR : [I-MEA P <} 1 12 (N) tFa9m99}
L L ) = W-GN| xpE@E G6ttd
== ("°37))SC40-1510-3013 B8
" {YRFE MK—100 S0ET(xv@Y11y)
215 535 510 I-MEN -F2F <}t 12 (D) 5 =199t
\ - | xmpE@E &ty
(yug) 600 (X&) 800 RER:D I sca0-15103012 B&
1400 SUYRE MK-100 Y8MT (BB
550
(Rg) 550 70 365 2
(avo&) 545 5 [ [90
o S\ N 1
(= p} [SRINGN] |
| © ‘ I =i a=== IR
25vvzutyf o % e ™ ~ — {5
N 7 : I Z
| =7 1.5} ] =
B q ‘_Cll) o <& ol @ #
- 2l P = T =
<t | w Iy (O |
= oIl 2 ,\LC\: - I ] IFZ0: g
= F) | o | 1 245 e |
: I ()] A ()
= % 1 ) =
= - - /
491 8 ‘ (BEk)2 35
(%) 499 27 4 295 2] 295 5] 395 12 4 ‘_27 (B#) 499
(@) 526 119 ($4£" 49 }) 1397 24| (fI4R) 526
B R |@mzEm B & (@] . -3
£ . : (CERFEIES 1 SV-X:: 1
= 1/10 WE|2016.12 avosfNRLE:13774v)-% Ad - I8 048(423)1111%
X 2 CF-—140AR 7ry72 048 (423)1112




